1-5-101

THREE YEAR B.A. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018
(CHOICE BASED CREDIT SYSTEM)
FIFTH SEMESTER
Part I — Accountancy
" (Elective I — Accounting)
Paper I : 5.2 — GOODS AND SERVICES TAX FUNDAMENTALS
(Common for B.Com., General, ASP & SM, CA and Taxation)
(w.e.f. 2017-2018)

Time : 3 hours _ Max. Marks : 75
PART-A '
‘ grNH50 - Q .
Answer any FIVE of the follovying questions'. .
1808 7S° e 3;60 E:)é&oga DI [EP050H0.
(Marks : 5 x 3 =15)
1. (a) Need ofGST.
GST G0, @5:550.
(b) UTGST.

- UTGST. _
(¢) Taxes subsumed under GST.

GST 58Kees™8 573y Sdyen.
@ . GST Council,

GST &
(e) Single GST.

2,083 GST

() GST on services.
-‘fo:.‘)e)'ga_ GST.-

[P.T.O.]
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() Dual GST.
550858 GST.

(h) IGST rqodel.
IGST 3o°6S.
(i)  Input Tax Credit.
3RYES ey BkeS.
() Mixed supply.
OB SBHT°.
PART-B
;RS0 - D
Answer ONE question from each Unit.
(59 a7 06 8.8 (T FATEI 5000,
‘ (Marké : 5 x 12 =60)
UNIT -1

What are the advantages of GST? Explain.
523y de Dy Gk, HETETs ID? HB0B0s.

~ Or
Give a short note on the requirement of New Tai reforms in India.
rEEBE0S" 578 Sy 50,800 89550 K80 BIHD aN0E.
UNIT - 11
Write about the Australian model of GST.
GST @008}, &3ROS 2r6S K800 Erabod.

Or

Write about the comprehensive structure of GST model in India.

G 568%06" GST D766 Gy, S0 doYER0 K808 oo,

2 : | . 1-5-101
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10.

11.

UNIT - III

Discuss the impact of GST on petroleum products.

1)@'55@0539 &8 BoD GST HgHo KHBod $ByoHodk.
Or

Explain the taxes and duties outside the purview of GST.

D) D30 Iy Bk, 586 Dewe &) Shyen, oSO HBOYHIN.

UNIT -1V

What are the major advantages of IGST model?
IGST ¢S B, (S50 (SBrasmren 20632

Or

List out transactions covered under IGST.

IGST |08 238/ DgRIEBER0OR0 KI°0)y Eras:0.

UNIT -V

Write a brief note on how to determine time of supply of goods and services.

SR0en, Ve 53 B0 0B der :)cgaa_;ss Eras0R0. .
Or

What is ITC? Explain it with suitable example.

':35@05 67§y B @RTRN? BRD &TrSe0s” D5BoHB.
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SECTION - B
WES - D
Answer ONE question from 'ea'_ch Unit.
| 808 TRS® (58 GHIrdES S00d 2.8 [HEH BIIEH0 Erahos.

(Marks: 5 x 12 =60)
UNIT1

What is Costing? Explain advantages and disadvantages of costing accounting.

5°20R ©3TI0? SPRoR BooY), (HEBITeTren HBR0HIE B0l
Or .
" From the following particulars, prepare a cost sheet.
Stock of finished goods 31.12.16 — 72,800
Stock of raw material 31.12.16 — 33,280
Purchase of raw material — 7,59,200
Productive wéges — 5,16,880
Sales — 15,39,200 |
Stock of finished goods 31.12.17 — 78,000
Stock of raw material 31.12.17 — 35,360
Work overhead charges — 1,29,220
Office ovérheads — 70,000.
& (508 BRGNS BT H0d A IDBER BT DaHod.

31.12.16 a3 HOLBR DD Deg— 72,800
31.12.16 T°63 500G Sogre deg — 33,280
P00 DD A0S Swrgren — 7,59,200
ST\ 58 Ssen — 5,16,880

eyseer— 15,39,200

31.12.17 w763 SO 55990 Des — 78,000
31.12.17 oeed H0& DT deg — 35,360
3By, 258 W& Py — 1,29,220-

eI PN — 70,000,
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4.

Date

March 2

10
15
20

25

UNIT II

Prepare stores ledger under weighted average method. -

Receipt Qty.

200

. 250

Rate  Issued Qty.

g8 DK ;’g@ o°o° %’55 IR0 HASTE Dok

HB8J0°es0

, éJ"’BD

10
15

20

ESOES
58557830

Minimum Stdck Level. .

- Calculate :
(a) Reorder Level.
(b)
(c) Maximum Stock Level.
(d) Average Stock level.

Re-order quantity — 5000 units

2.00
2.40
— 250 ‘units
2.60 ‘
- 200 units
TR e°8
HBAI°e0
2.00
2.40
- 250 diJJ‘:)e}g
2.60
__ 200 cﬁm@&g

Minimum consumption — 6000 units

Maximum consumption — 10000 units

Average consumption — 8000 units

Reorder period — 4 to 6 weeks.

. —

9-5-101 .
[P.T.0]
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1808 Jdrrorso esgrdore

(a) &BR es8d 305;1) 0.

(b) 0P DE deg Fpoo.

() HBZRBL deogFrox.

(d)  Biex S deg oy He3oBodw.
SBR es8b Dok H83°ea0 — 5000 owm‘e.g
23, 92&@I7Ko — 6000 AHIDeN |
KB D2&3°K0 — 10000 A6
BHe20 DR _ 8000 c53°0e

ABR eﬁg5 Basw P00 — 4 o0& 6 TT°e

UNIT III

* Discuss different methods of wages and bonus payment to labour.
FPR0%05 BO0D 29 Ddaren 2BAK F'H HEBIeD S5G)0B0D0.

. Or
- Calculate earning of‘wo‘rker from the following.information under :
Standard time — 48 hours |

Sténdard producﬁon — 96 units

Time taken — 40 hours

Hour rate of wages — Rs. 50

Piece rate — Rs. 30 pe‘r unit

() Time Rate Method.

(b) Piece Rate Method.

(c) . _H;alsey Plan.

(d) Rowan Plan.

.4 2-5-101
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BPOEG .%05»5:;:&) 808 SgBoeS® B8),0008.
(DrR0e3E D00 — 48 Kosoew

[Re30e38 GBS — 96 0UeoeN)

oK% 50090 — 40 Kotoew

Kot DB Beo — &oe. 50

50D 2063 Bew — 5. 30 2.8 G0

(2) SHoaHo Bew IES.
(b). D085 58S.

© 5% 5.

d) 5% 8.

UNIT 1Iv
What is contract costing? Expléin its features.
SroeTy SRON RIMTRI? oFeTed @oo)b&.
Or

Prepare contract accounting :

Material —1,60,000
‘Wages — 1,40,000
Direct charges - 1',00,00,0

- -Plant at site - . — 80,000
Closing material — 60,000
2,000

Outstanding wages —

Rs. 4,00,000 have been received from the contra

Work uncertified — 20,000

Contract price — 8,00,000.

ct bein'g 80% of the work certified.

2-5-101
[P.T.0]
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10.

11.

SPOTE) PTRY HOIED Dabod.

Fe380HS — 1,60,000
Dedoren — 1,40,000
(SB5%, Ko — 1,00,000
2°8 DD o — 80,000
S0RoYP We3BAHS  — 60,000
dPovHeN DdTrey — 2,000
S0 518> 4,00,000 &° B80% I ¢)DEBoBRERE.
E)DEBoBD 5D — 20,000
S°O|_é.)‘°$§eo) [nle] — 8,00,000.
UNITV

From the following calculate :
(a) P/V Ratio.
(b) BEP.
() Margin of Safety. ,

Year Sales Profit

2016 3,00,000 40,000
2017 3,40,000 50,000

1808 T°e3R B8)0906.

(a) PIVLS

(b) BEP.
() O%g2 @58
psTonlupele} ea:éo&sw) ergfo
8.
2016 3,00,000 40,000
2017 3,40,000 50,000
Or
Explain the costing techniques.
s°Rof £3§)§) 9560308,
6
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Time :

THREE YEAR A, DEGRISE EXAMINATION

(@)

(b)

(©

(d)

()

®

CHOTCE BASED CREDIT SYSTIGM
T SEMEESTR

Part 1 — Accountancey
(Blective 1 - Accounting)

I-H-102

OCTOBICR/NOVIEMBIGIL 2014

Papor 111: 6.8 — ADVANCED CORPORATIG ACCOUNTING

(Common for B.Com., General, ASP & SM, CA and Taxation)

(w.e.f. 2017-2018)

3 hours

SIECTION - A
el HH0 -

Max. Marks : 75

Answer any FIVIS questions. All questions carry equal marks.

589 080 (560 SEIErHBnns [ros0bn. o) 9oL S0 SHIHH.
(7)Y o _ )) [2B) U

(Marks : 5 x 3 = 1b)

Accounting Standards Committee (ASC)

37,0830 [Hsrrere 52063 (ASC)
Purchase consideration

§h0R ey [P0

Net payrﬁent method

RES Yo SO

Capital reduction a;:COunt
NAITAYS éﬁo?@ oeee

Internal reconstruction

Slelufel @?68&0"&830

Liquidators remuneration -

O8gtiend 8&°DKo

[P.T.0]
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(g) Holding company

FQoR Kond
(h) Capital reserve.
QTR Besdg.
' SECTION -B
g0 - D

Answer ONE questioﬁ from each Unit.
L:Se:’a O5°Re5 H00G 2.8 (%) DRI EEHH0 EPA50H0.
. (Marks : 5 x 12 = 60)
UNIT-1

Explain the objectives of accounting standard board.

0,080 (Sarereo 6% Ssairess 9380HD.

Or

Explain the scope of accounting standards.

37),0630f [Haorere B, SBHR d980H0é.

UNIT -1I .

What is meant by amalgamation in the nature of merger? What conditions it has to
satisfy?

2% ofes BoBIKO BHTRA? 8 ) SEHOR Sodyd 8. -
Or

M Company Ltd. acquires the undertaking of N company Ltd. on 31.3.-2018 for a
purchase consideration of Rs. 2,60,000 to be paid by fully paid equity shares of
Rs. 10 each. The balance sheet of the two companies on the date of acquisition is as
follows. :

Liabilities M Ltd. N Ltd. Assets M Ltd. N Ltd.
Rs. Rs. Rs. Rs.
Share capital : ' ' . , Fixed assets :
- Equity shares of . ' Land and buildings 1,20,000 80,000
Rs. 10 each fully paid 2,50,000 1,50,000 Plant and machinery 2,00,000 1,80,000
2 ‘ ' 1-5-102
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General reserve 1,20,000 18,000 Furniture and fitting 10,000 20,000

P and L account 10,060 53,000 Current assets:

Development rebate reserve 10,000 37,000 Stock 55,000 40,000

Workmen compensation fund 15,000 24,000 Debtors 45,000 {10,000

Current liabilities 45,000 95,000 Bank balance . 20,000 17,000
4,50,000 3,77,000 4,50,000 3,77,000

Pass the necessary journal entries in the books of N company Ltd. and M company Ltd.

when amalgamation is in the nature of purchase.
31.3.2018 ¢ M oD d0BE 7td N 500D d208E Fg0y ooy B, S0
B850 &r. 2,60,000 o &r. 10 dewdie Jrgm 39odI 503c TrereS® DYoBSB.

£°3oR%en BB M Eond 208050 N Eond &5 @) ;’)goo 1808 Do GO,

TP M Eond N Eod ey M Eo2d " N o
8. 8. g, B

TPET° DOTCOERO : \ QORI :

&5, 10 De0dKe BT 3o g, Swe> - 1,20,000 80,000

Se8gtd TeroS’ 2,560,000 1,560,000 2:0e1, G0(ETe0 2,00,000 1,80,000

Fgees Bests 1,20,000 18,000 )5 %8050 dRoHes 10,000 20,000

YO T 10,000 53,000 [55y% esisgeo :

o8 Bex Batds 10,000 37,000 JKLH 55,000 40,000

SEDO T3 563 3G 15,000 24,000 awefoe 45,000 40,000

P08 egpe 45,000 95,000 2rgotd dog 20,000 17,000
4,50,000 8,77,000 4,50,000 8,77,000

So@rKo SRy S8 ofpand afPpid N oo d2oBE D80 M ¥ond dBE
DSOS DeFHEen Eraod.

3 1-5-102
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UNIT - 11

6. Explain the importance of internal reconstruction.

' 3 é.
Clelafels) Q)éqg?&e'aéao BE); Laav;ﬁaog%é:éo 9HBoBdo

or
7. The following is the Balance Sheet of X Ltd. as on 31.12.2017.
| ' Rs. |

Liabilities Rs. Assets 58 -
Share capital : ' Goodwill ) 50’ 000
5,000 equity shares of Rs. 100 each 5,00,000 ' Plant and machinery 1, ,000

Sundry creditors . 1,00,000 . Furniture 35,
Current assets ' 2,00,000
- Pand L alc 1,35,000
6,00,000 6,00,000

" The following scheme of reconstruction was passed and sanctioned. 5,000 equity shares
of Rs. 100 each are to be reduced to an equal number of shares of Rs. 50 each.

Goodwill and debit balance of P and L a/c are to be written off. Plant is to be reduced by
Rs. 25,000 and furniture is to be reduced by Rs. 10,000. - ' :

Give journal entries and prepare reconstructed balance sheet.
31.12.2017 % X Sob Ltd 76 e eigpo 56§ (808 agorr &ob.
| | epen ' SR - e3:30e0 | .
e BT | | 082S 80,000
5,000 éechéB Teeren 2.878),¢5 8. 100 S°pn  5,00,000 Q:oé,.n‘, ovoeen 1,50,000

DD AERTBOD) ~1,00,000 $8%5 35,000

DT 2,00,000

ergSdaype gre 1,35,000

6,00,000 6,00,000

D0TreER) w87 8. 50 © Jrom BYodd 5,000, 8. 100 5083 oo BRODEOL
. - N
K)goaooa"éo. &S H08asw ere;Sr\’)%e) P DS QO 6&33 DOITS. oo 8. 25.000

08" HoBa%n $8)BHH> &v. 10,000 08 HRoTd. DeTSEen @
Q

R @?6848&0;’)20&& €5 e3)0
3630 BOSTEBAH0E. ‘ -

1-5-102
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8.

9.

UNIT-1V
Explain the procedure for preparation of liquidator’s statement of account.
985Eerd DB M), 657,055 SAHID gy 95
Or

A Limited company when into voluntary liquidation with following liabilities :

Rs. Bs.
Trade creditors : . - 12,000
Bank overdraft : 20,000
Preference share capital 70.000

Equity share capital : _

10,000 equity shares of Rs. 10 each Rs. 9 called up 90,000

Less : Calls in arrears 2.000 88,000
Cash received in advance on shares 28.000

The assets realised Rs. 2,00,000. Expenses of liquidation amounted Rs. 2.000 and
liquidators remuneration Rs. 3,000. Calls in arrears are realised. Prepare liquidators
final statement.

- BKD DB open KORS 2.8 Sod JgSjosort S8355°3 Dodes STpde0s.

GO v
H8E aneTdey : - 12:000
250% 0.D | 20,000
SGEgD T TUTOEHID 70,000

548ge3 ToeT BOTPOERR0 :

10 &5, DeS Ko 10,000 Sedged Treren &5°..9 3o 90.000

& : HeuHo B5TAV 2.000 88,000

3000&07 SATPSD e D0y 28,000

s 8. 2,00,000 H35Go8. SEESS e 8. 2,000 BGed F8Ie0
55°. 3,000 &Beod H08 e TIBEK BATEHIAOE. |

5 - 1-5-102
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UNIT -V
10. Ixplain the treatment of capital and revenue profits in holding company.

‘ “
FQoR oS’ Borrodsdnn 208050 TPl ergrey Do HBKBIRE?

Or

(1. IFrom the balance sheets given below, prepare a consolidated balance sheet of M Ltd and
its subsidiary N Ltd, as on 31.3.2017.

/

Balance sheet of M and N Ltd companies.

Liabilities Rs.  Rs. Assets Rs. Rs. ‘

Share capital of Rs. 10 each 1,20,000 30,000 Buildings at cost 72,000 25,000

Trade creditors ' 15,000 5,000 Plant and machinery ~ 30,000 10,000

General reserve 25,000 6,000 Stock at cost 18,000 3,000

Profit and loss a/c 12,000 9,000 Trade debtois ' 22,000 7,000

| | Bank balance ‘ 5,000 5,000
Shares in N Ltd. |

2000 shares of Rs. 10 each 25,000 -

1,72,000 50,000 : 1,72,000 50,000

At the date of acquisition of M Ltd. of its holding of 2000 shares Rs. 10 in N Ltd. the
latter company had undistributed profits and reserves amounting to Rs. 5,000; none of
which has been distributed since the date of acquisition.

B35 29y e edpo S eptorr M Ltd. @0 edwos $0d N Ltd. o 31.3.2017
8KyB e e 5 BALTLHDAD.
-0 <«

M 508050 N 9088 Eonde e eipe 5638
@ [SN]

3)Pen 8. &oe. T s &oe. o,
T mi;oc;’)bo 8re. 10 ameresS® 1,20,000 30,000 235:?&»(3:)6(53) Ny 72,000 25,000
2T’ 15,000 5,000 0t Ao|TeD 30,000 10,000
DErSes Bastg 25,000 6,000 J3%% 18,000 3,000

1-5-102
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TR T 12,000 9,000 2esen 22,000 7,000
EANSES VDI 5,000 5,000
N Litd. &° 2000 oreren

5oe. 10 STy 25,000 =

1,72,000 50,000 1,72,000 50,000

M Ltd, N Ltd. &° &, 10 © 2,000 mreren Eoften 35 885 L Ltd.&° 0dardd oare,
Baxdyg Deg 8. 5,000 &¥)8. Soften 88 08 e eipo 88 L85 e Dog oG Jerosd
390D BBRBL..

7 S 1-5-102
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2-5-104

THREE YEAR B.Com. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018
CHOICE BASED CREDIT SYSTEM ’
FIFTH SEMESTER
| Paper VI: 5.6 — PROJECT MANAGEMENT
+ (Common to B.Com. — General, Comp. Appl., ASP & SM & Taxation and Tax Procedure)
i (w.ef. 2017-2018) |

Time : 3 hours | - Max. Marks : 75
SECTION - A

WES -9
Answer any FIVE of the following questions.

All questions carry equal marks..

s 808 TEST T 08038 IIrFres -y
| o) 5§00 207,00 DS,
(Marks : 5 x 3 =15)
1. Préject Management.
@v’&"ig DEIes.
2.  Project Identification.

8§ 180.

3.  Project Manager.

B-BE d8gIE.

4.  Project Control.

&8 § daHodes.
«Q p

5. Performance Management.

8085 DEgEres.

[P.T.0.]
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0.

1

8.

9.

10.

11,

Teamwork.
&3(&8 S;)::l
IRR.
©.035.06.
Project Lifecycle.
B 9% BFo.
C.P.M.
R.2.00.
Project Evaluation.
R-B§ Sosrergosdo.
SECTION - B
ES - D

. Answer ONE question from each Unit.

All questions carry equal marks.”
beLi) 0505°0¢5 H00& a.¥ 5% \‘Gwﬁ"mmlmoﬁ)o&. |
o BYO% S0 B
(Marks : 5% 12 = 60)
UNITI

Write the importance of Project Manager_nent.

Y DG BoE), (P30P5BR0 @Ero00G.

. Or

'Explain the steps involved in process of Project Management.

DB d5res (FBANS’D 2R @oDOR K80 HB0HH0.

2
2-5-104
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13,

14

15.

16.

17.

18.

19.

\

UNIT 11

Explain the activities of project planning.

?J,-—

L "\

S0SOST 208 SO 0R O9Bovod.

Or

Write the steps involved in PERT Process.

PERT D80S wodom mrabod.

UNIT III

Write the types of project termination.

R-F§ 3 S 29§ SstoRy Erahod.

Write the need for project execution and control.

R-F§ oo Bain Do ePiEdR D98I0k

Write the challenges of Performance Management.

Or

UNIT IV

3“3385 STo® Q(ﬁ)S“bO&DEO& ST [Eraod.

Write the importance of Performance Evaluation. .

Or

gy STergesHo G, PE0RER EraLd.

UNIT V

A ¢ompany is consldelmg purchase of a new ‘machine. There are two alternative models
X and Y. Prepare a statement of profit ability showing the payback period from the

following information.
Details

Estimated life of machine
Cost of machine

Estimated saving in scrap

Estimated saving in direct wages

Additional cost of maintenance’

Additional cost on supervision

Machine X Machine Y

4 Years
18,000
1,000
12,000
1,600
2,400
3

5 Years

36,000
1,600
16,000

2,000 -

3,600

2-5-104
[P.T.0]]
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2.8 £ 2.5 578 2ASD 535010 0 dFowod08. X 58051 Y ey Boky ahoaneds® 36R
3903 SPeH0D (payback period) wogoe 28 NEURVES AR ﬁmé)‘tﬁoass 2.8 5§§ BOITEHD

2.8 ADOERVR [urd0B0H0. .
DHTEe ’ oo X ojoo@’s@ Y

oo Bk, @odT 2380 4 Jo 5 Sou
ahoo PKY o | 18,000 36,000
P2 o Banads o 1,000 1,600
(385 P80 &° etz 09 12,000 16,000
REGTEH ST DY 1,600 2,000
SEGIEE @S P 2,400 3,600

Or

"Explain discounted cash flow methods.

T DS FTio By, SEBoeR 9580508,

4  2.5-104
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2-5-112

THREE YEAR B.Com. (GENERAL AND TAXA’i‘ION AND.TAX PROCEDURE)
DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018

(CHOICE BASED CREDIT SYSTEM)

FIFTH SEMESTER

Elective IV — Banking and Financial Services
Pap_er II: 5.5 - RURAL AND FARM CREDIT

Time : 3 hours

1. (a)

“(b)

(©)

(d)

©

®

~Answer any FIVE questions.
55D 00 [HHODH SETTRINN FOHB.

Rupay Card
5% et

Financial Inclusion

e388 DY
[~)

SHG
a0 B3PS anyodso.

NABARD
et
[~

MGNREGA

(w.e.f. 2017-2018)

SECTION - A
NED -

(Marks : 5 x 3=15)

SoFyTod @k (rdoes &8 8 SE¥o

" KCC (Kisan Credit Card)

80 B 52

Max. Marks : 75

[P.T.O.]
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(g) APCOB - - . |
APCOB |

(h) PAC’s
PAC’s

(@)  Eligibility conditions of farm credit?
:)553»053 HEIAE 5eHOVD els) D200,

G) Types of agricultural Loans.
SRmah awETe oY, Sse0.

SECTION - B
’;osS -®
Answer ONE question from each Unit.
58 waé'@o& 2.8 (S5 DITEERB0 @PAHIR0.

(Marks : 5 x 12 =60)
UNIT -1

Explain the classifications of rural credit.

[T208s SESS BooY), H8Yea H°8) 99800,

Or

Explain financial inclusion and its importance.

05 B6E 180D 25800 TR PA0FER BoS0S.

UNIT - I1 |
Explain about the role of SHG's in rural credit.
Lm’b:)ea IBSSES® 5000 DIPOHE 200 A3E); B 80 9B0Hod.
' Or'

Explain the functions of central co-operative Banks. |

o5 S ergoton @), e K8y 5B0B0E.

2
2-5-112
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10.

11.

UNIT -1III .

Explain the problems and remedial measures of farm credit.
SFOR0N BEIAS D HSoidgen BBckw BREN er|ifen KBy 998oB0d.
Or

Explain the types of farm credit.

DOV SEIBSD Eseorn K80 95800

UNIT -1V

Explain the problems of recovery and overdues in farm credit.

S50 SESOS D BATHS® iy BRBgEs B erden e JEHBakS g0 HBD

. 9580508.

Or |
Explaip .thé objectives and importance of APCOB.
APCOB Boo¥); e)§°§ep 208050 T R3009)58 10°8) 9HBoWoke. ]
| UNIT —‘Y 7
Disc.:us.s about the 3 C’s of. credit. |

58586 3 C 0 K80 BB)0Bos.

Or

What are the conditions of employability of farm credit?

Sgnas> S99 Dot USSR O S8 [Bod Eraed.

3 2-5-112
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1-5-113

THREE YEAR B.A./B.Sc./B.Com. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018

CHOICE BASED CREDIT SYSTEM
FIFTH SEMESTER
Part I - Computer Applications _
Paper -11 : 5.4 — DATABASE MANAGEMENT SYSTEM

(Common for B.Com. Computer Apbhcations Elective — II)
(w.e.f. 2017-2018)

Time : 3 hours 7 Max. Marks : 75

‘()

©

(d

(e)

®

PART-A
B -
Answer any FIVE questions. All questions carry equal marks.
50 08 @@oso SATTEHH0) FRO0N0. 7)) [$EO% D)0 SHITIX.
(M#ks:5x3=15)
Explain Data and information. .
e D805 aRTBSS B0 9600,
List any three objectives of DBMSi
DBMS @8, 550 ot ox5p @508,
List the drawbacks of file-based system.
File-based system G3a0%); (98208570 Era0G.
Write about DBMS Vendors.
DBMS 2o K809 @Erahod
Define multivalued attribute and derived attribute.
Multivalued esg3205eS derived eE3angedern 9580HI.
Explain in brief on generalization.

FRBOBIS 0 HJore DHBOYHD0.

-
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w

()  Write data types in SQL.
SQL S der 8 Do Eradod.
(h)  Write the syntax and example for any two set operations.
530 Do set &TOXY) B0 GOS8 [Praod.
@)  Write the structure of PL/SQL block.
PL/SQL @5;35 2 Frodod.
tion in PL/SQL.

G  What is a function? Write the syntax for defining a func
SOKS @RTAD ? PLISQL 6° 3088 G0, doer§) ) @raiod.

PART -B
>f - ®
Answer ONE question from each Unit. All questions carry equal marks.
5 GRS H0H .8 (SO BATTHRB0 RN, o) [FEHeLd D76, R0
(Marks : 5 x 12 =60) '

UNIT -1

Write in detail about the evolution of database management systems. .

DBMS .,)S“enzscﬁ):xs 809 Yoo QEBoVOG. |

Or
Write a detailed note on different types of database management systems.
DL E5°0 BT m*’zg?ﬁaz&oes_ AR 80D dPHoore 38BEBoVOG.

UNIT - 11

What is DBMS? Explain the advantages of DBMS.
DBMS e 320? DBMS BE); GBI O &’)580?’.9)2&).). ,

Or

Write a detailed note on data models.

G Arddy K80 aHoore 958880804,

o
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10.

11.

UNIT - 11X
Whatisr i ; . . oA ‘ '
1at is relationship degree? Explain different degrees of relationship with example.
w E9_E,
B85S0 IR edmRn? DD BBI0A Aifiory STrER0s” 9980HH.
Or
What is Normalization? Explain 1NF, 2NF and 3NF with examples.
TEDBGS ©RTRN? INF, 2NF 28050 3NF o0 mv5rsenos® 9580950

UNIT -1V

Explain Data Definition Language commands with examples.

T BOVBD SPONGS E0r0&) OR0 &TrEEes” 9HB0HI.

Or

Write a detailed note on constraints.

Constraints /809 é.’)i{))e)én"’ 9%85B0%06.

UNIT - A%

Explain different control structures in PL/SQL with examples.

PL/SQL & Ko 596 05’5 G o airtnos’ 98809,

- Or

Define a cursor. Explain explicit cursor management in detail.

| 45yB e D7 359)235 £8y6 153835065 K809 dJHoone JEBEBoVos.
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THREE YEAR B.A./B.Com./B.Sc. DEGREE (CBCS) EXAMINATION —
OCTOBER/NOVEMBER 2018

FIFTH SEMESTER
Part I — Computer Applications
Paper - III : 5.5 — WEB TECHNOLOGY

(Common for B.Com. Computer Applications Elective — II)
(W.e.f. 2017-2018)

Time : 3 hours , Max. Marks : 75
| PART - A
g Ho0 —
Answer any FIVE of the following. All questions carry equal marks.
D3 DS (53)0% Tranen FPANHN. ©Y) [$§)e% 58000 SHIHN0.
(Marks : 5x 3= 15) | '
1. (@) Write about bus topology in detail.
Topology K080 DEESM 0550,
b)) W 1;ite the block structure of HTML program with example.
HTML program &3w¥); block structure &0 oSS [EPAs0R0.
(c) Write about headers and footers of HTML. K
HTML 025 headers and footers K809 @a5050.
(d) Discuss about formatting blocks of information.
S50 G blocks 0 format Daboe K800 dHBoHB.
(e Explain data types in java script with examples.
Java script 50859 data types &0 &TPPER08° HB0HIN.
(f) What are the different operators available in JavaScript?
Java script 50&© 99 operators DD ?
(¢) Explain the p‘urpose of keywordé new and this in java script.

o

Java script 50658 new 58050 this keywords &), @530°%) d980HD00.

[P.T.0]
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(h) What is a regular Expression? Explain Regular Expression class functions.

Regular Expression edme d>? Regular Expression 0&® class functions o

25B0HD0. _'
(i) Explain about messages and conformatiqns.
messages 08050 conformations &803 DHB0YHA.
G) How to open a new window? Give example.
§°8 window % D9E0r™ open BAKVEIBN? GTFTEIRDY
| | PART - B
dgrrKH0 - D
Answer ONE quéstidn from.each Unit. All questions carry equal marks.
58 A0S K008 28 (S exTran Frahvn. ©) %5 S0, SHIHZ0.
(Marks : 5 x 12 = 60) - \
UNIT - I
Explain Lan Wan and Man topologies.
Lan,Wan 23080500 Man topologies 0 dH3BoFHHw.
| Or
_Explain Hyperlink creatioﬁ in detail with examples.
Hyperlink creation ) 9HEIVN ET e 9IB0HR.
. UNIT-1I IS
Discuss about multimedia objects.
| Multixﬁedia objects K802 ©H8y0H0B00.
| | _ ! | Or
How to create our own style sheet? Discuss in detail.
B0R% sPHEND Ao Style sheet {0 D &)Cﬁ-‘n&nm (‘08&06’90@? DI &’)0“3802@)530.
| | "UNIT - III ‘
Explain scoping rules with suitable examples.
Scoping rules %> S8GT® &TETEE08° 258050,
s - Or
Discuss at least Five String functions with examples.
~ 8Q350 & String functions ézz:s";’)vésae)&é DH3BoYHd.
& S 1-5-114
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10.

11

UNIT -1V

What is an exception? Explain with suitable example.

Exception &&dm 30? &ordrdend’ 99809HH0.

!

Or

Discuss Built-in objects in java script with examples.

Java script 50 Built-in objects K0 &mer8808° H8)0B080.

" UNIT-V

What is data validation? Explain with suitable ekample.

Data validation &5 0?2 Slelevtng S80S’ :)éBo@:é.)J.

Or

Explain rollover buttons with suitable example.

Rollover buttoﬁs-:éo éadig_a‘; ST 08" D5B0HD0.

1-5-114
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THREE YEAR B.Com. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018

THIRD YEAR EXAMINATION

Part II

Paper VII — CORPORATE ACCOUNTING

(Comnion for B.Com. — Corporate Secretaryship, B.Com. — Taxation, B.Com. —
Office Management and Secretarial Practice, B.Com. — Aduvertising, Sales Preparation and

Time : 3 hours

1. (a)

(b)

(©

@-

(e)

®

' SECTION - A
PES -

Sales Management B.Com. — General and B.Com. — Computer Applications)
(Revised from 2010-2011)

Max. Marks : 70

~ Answer any FIVE questions. Each question carries 2 marks.

T OB DS (%)% earaned AN, (B [$%)E 2 57785,

Accounting standard.

. ©57),0630R [SSTeTen.

Net asset method.

DK e SES.

~ Capital reduction.

S50 BRoD.

Counter receipt book.

DK AT Jo°e.

. Annuities.

eBsren.
o\

Surrender value.

_:seﬁoengsen QenS.

(Marks : 5 x 2= 10)
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(g) Internal reconstruction.
Silalel @}68&6"&8‘8@3.
(h) Accuﬁlulated loss.
| QD0DH Daren.
1) Non-PerformingAssets.
DBBD BD esdoen.
G) -~ What is time ratio?
570 DY BITID?
SECTION - B
WES - D
Answer ONE question from each Unit. Each question carries 12 markg.
DS aeeS 0o e 9B IR0 EPaSH0. (38 (555 12 H°);00.

(Marks : 5 x 12 =60)
UNIT -1

What is valuation of share? Explain the need of valuation.

T SATOER0 BRITHD? T ST 9560508
Or

X Co. furnish the following : .
(a) Profitearned  2014— 70,000
| 2015 — 1,20,000
2016 = 90,000 .
' (b) The profit include non-recurring income Rs. 10,000 per a
(¢) Capital employed — 8,00,000. '

(d) Normal rate of returns — 10%.

nnum.

~ Calculate goodwill :
(1) 3 Years super profit method.
(i) 2 Years average profit method.

2
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4.

X 5020 |S08 ddrordo Igéod
(a) ereren - 21014 — 70,000
2015 —1,20,000
2016 — 90,000
(b) perzred® Joi 98 10,000 8. SHpH HITDHB0 570 &R0 Lod DB
© DIBIRoDD HrreEHBan ~ 8,00,000.-
(d) e85 oad e — 10%
KEDSK
D 3 [on © &9S8IF) ererre a)eg
() 2 Sone DKex ergrRy we) BY,L0d.

UNIT -1I

X Co. Ltd. was incorporated on 1st July 2014 and received its certificate of
commencement of business on 1t August 2014. The company bought the business of
Y Ltd. with effect from 31t March 2014. Find out the profit available for dividends relate
to the year 31.3.2015.

(a) Sales for the year were 6,00,000 out of which sales upto 1¢t July were Rs. 2,50,000.
(b)  Gross profit for the year 1,80,000.

(©) The expenses debited to the statement of profit and loss were :

Rent — 18,000 Advertising — 36,000

Salaries — 30,000 ‘ Stationery — 7,200

Director’s fee — 9,600 Commission on sales — 12,000

Interest on debentures — 10,000 Bad debts (Rs. 1,000 related to debt prior
Audit fee — 3,000 A to incorporation) — 3,000

Discount on sales — 7,200
Depreciation — 48,000
General expenses — 9,600.

Interest to vendor purchase consideration upto 1% September 2014 — 6,000.

3  S-360
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X Co. Ltd. &78 1, 2014 5 :d03re ey 1, 20145 SB0e0 JBdw a8 eowo8. 25°6) 31,
2014 Y Ltd. Co. TR oW ETuRTen D08, 8KD ddore T °8) 31 2015 &°
©oBGy HoHH)TE G2T0gEE odiFnaly Ry BE,0MHN.

(a) QoS edysTen 857, 6,00,000 ST 2™ 1 73 00 evdysTen 85°.2,50,000.
(b) D05 Byre erdsdn . 1,80,000.

© oS grEndH ‘&@e§ D% Pyyen

& — 18,000 . PEerden — 36,000
@zren — 30,000 Q308 - 7,200

@5 ew — 9,600 | @m&svéz.g £9055 — 12,000

&BodE P d& — 10,000 oD erfen (MATPEH [B0E0 SPOH0HE
es&e5 D — 3,000 ' . Q0208093 ¥°. 1,000) — 3,000

efi)&s“ega_ G&r);065 — 7,200

$/0t50 - 48,000

G PENeL — 9,600.

eBgso Tridd 1 Hgoath 2014 5% 39003 98 K. 6,000.

Or

Prepare specimen and format of company final a/c as per Company Act.

Eod D80 35750 Eond SwRos) B5);00 dd0T77° Daod.

UNIT - 111

What is Amalgamation? A company is amalgamated entries written to close the books.

RoAITHo BRMTI20? 2.8 S0LRVE' HodHo BOBBEPED HiSer SoRcSE0E D HeEe FRRE?
. ) - e Iy oA H

Or

S-360
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I'he following 1s the balance sheet of a company as.on 31¢ July 2015.

Liabilities Rs. Assets Rs.

Issued capital 45,000 equity share of 20 each " Goodwill 25,000
fully paid 9,00,000 Premises 5,00’,000
45,000 5% preference share of 10 each fully Plant & Machinery  4,00,000
paid 4,50,000 Stock 65,000
Sundry creditor 50,000 Debtor . 2,10,000
Bank alc 50,000

P&L 1,50,000

14,00,000 14,00,000

Shareholder resolves as follows :

(a) The preference sharcholder to fore go dividend for 2014 and 2015. Their share are
to be reduced to Rs. 8 per share paid up.

(b) The equity shares are to be reduced as 10 paid up.

(¢) Goodwill and Profit and Loss a/c to be written off.

(d) Plant to be reduced by 1,00,000.

Give journal entries in the books of the company.

31 &8 2015 77638 Kowd T8 &) ey 53 Ddooen BKIDDOHDEHD

PO

45,000 Ss8ged Teeren weer 18 8. 20 T

e 39odDD

45,000 5% 305§D TeTe0 7 18 . 10

S Feor 390D

DL 220£T°HO

&e. esix_;oen - 8oe.
KEDS 25,000
9,00,000 es588300 5,00,000

S0t 508 AoEres 4,00,000

4,50,000 H% 65,000
50,000 98¢ mvmtes  2,10,000
ZPg0S” B 50,000

ifLD T 1,50,000

14,00,000 | ‘ 14,00,000

S-360 .
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Terersoen 1808 dEore SoyRoT .

(a)  eB55Y) Termhes 2014 208050 2015 Kol 0% Sowofodd GG HEILE HGE S

T8 TrerorL 2.87)8), Toer 8. 8 B9os) SIORIAN BHROWOE R
(b)  &e8ged Trerren v 10 Do) §9%5e2) BRoWIE K0
(©)  H0&EIS DBk ergdgen degeRy B S5Bco |
(@) Froe dedo 8. 1,00,000 Devsd DosH BRoScso.

50D P50 DeFSeeR BArEHDA00E.

“UNIT - IV

What is Rebate on bill discounted? Write its accounting treatment?

TR006 627,065 BEen RMTR? R 9 9o B8),5?
’ © Or

From the following information, prepare P&L alc of the Ram Bank Ltd. for the year

ended 31st March 2016.

Interest on loan 3,00,000

Interest on.fixed deposit 2,75,000

Commission 10,000 ’

Brokerage 20,000

Salaries & Allowance 1,50,000

Discount on bill (Gross) 1,52,000

Interest on cash credit 2,40,000

Interest on temporary OD in current a/c 30,000
Interest on saving bank deposit 87,000 |
Postage, Telegram 10,000

Printing 20,000

Sundry expenses 10,000

Rent 15,000 .

Taxes licensés 10,000

Audit fee 10,000.

S-360
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Additional information :

(a) Rebate on bill discounted 2,000.

(b) Salary to managing director 30,000.
(c) Provision for bad debt 40,000.

(d) Provision for income tax @ 50%.

(e) Interest 4,000Von doubtful debt was wrongly credited interest on loan alc.

(®  Provide 15,000 as dividend.

810 adyS D5t 08 5 wrge Lid. 776 3L3.L6 8 eosiidhy SosgTRs e

TR0 BOSTEDADOE.

200ETO 5& 3,00,000

286 Gam2eyD 3& 2,75,000

£259 10,000 |

55822 20,000

2gren dedd0yen 1,50,000

DO P G060 (o) 1,52,000
58 BéeSe D 9 2,40,000

$Boss Frares D ora,08 LSBiERe R 9¢ 30,000
5)90fy &9 P 9 87,000

26328, BOrHeo 10,000

SooESes 20,000

2965 PBneo 10,000

&3 15,000 -

;v):so&w, SN io,poo

es@e5 e 10,000.

S-360
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10.

11.

555 DITTEID ¢
(a) &eéboem JIS wee P 82320 2,000.

(b) SoBeoR F3LW S5 30,000.

€  oeRerde domen 40,000.

(d) eTaDd 55301 DT80 50%.

(e) wosasrgys erle P DG 8. 4,000 20eTE ‘:@ grEes> DR B DADERB.

(f) EIBoE 8re. 15,000 oyt DaAodk.

UNIT -V

Prepare Revenue A/c of Life Insurance Company with imaginary figures.
D08 P EoRR GBa0¥); BOKI) T &2rodd ©08S” HOSTTEHBALIZD.
Or

The life fund of a life assurance company was 96,48,000 as on 31st March 2016. The
interim bonus paid during the inter variation period was 2,48,000. The periodical
actuarial valuation determined the net liability 84,25,000. Surplus brought forward from
the previous valuation was 9,50,000. The directors of the company proposed to carry
forward 10,31,000 and to divide the balance between the shareholders and pohcy holders
in the ratio of 1 : 10. Show

(a) The valuat1on balance sheet.
(b) The net profit for the valuation period and the d1str1but10n of the surplus.

31.3.2016 © af 2% P 502D VY 8. 96,48,000. & SoSEEINS® Soe BoTergo8id
B0855°008° BP0 WY F'ID  2,48,000 PIrt KR Ss8R0 DS Al
8. 84,25,000 eorr QPowoTHd. KS Borerossin  Hwod BOYS Qofen DooBB0
8°. 9,50,000 FBEEY &7°. 10,31,000 0 5000625 SR Do [HAFHoTK. DK deg
TUFTREE0 DBA0 FENTHE 2285 1 : 10 BHAS® SoBERE FBLK DFonoTE.

3.3:355503@ Dok |

(a) | 207508 esR) @pe S8,

(b)  Sorersosd Serdd O¥8 erisin S0Bakn 0/Hes oD Brtod.

8 : _ S-360

Scanned by CamScanner



